
Math 392 Quiz 5B

February 25, 2019

N。m。: 4NSv¥JG(2L∫
Instructions: No caIcu!ators! Answer坦PrOblems in the space provided! Do your rough work on scrap paper・

1, Definethefo=owing:

(a) ! f毎y)dy=

(b) !高二

(c) !

よし字母軌′埴

.千句。廿

f(与y) ds二
毎㈱ノ拘)) び聞手で(幽)て捉

(where C is a smooth curve parametrized bv7(t) =< x(t),y(t) >. No shorthand, fiesh outfuIi def面tion,〉

声草生o礼j乙J叶叫《。「 f・
f。.,in。,nte賃.a,s‥子▽f.春= f(手性))一f(手の

星彊堅

2. Whatdoes itmeantosav′乍isconservative′′?

3. State the equation in the fundamenta圧heorem for line integraIs:

4. LetF二< P毎y),O毎y) > beavectorfieldonanopen,SimpIvconnecteddomainD.SupposePand O have

continuous first partial derivatives on D. What equation would you use to check ifF is conservative?

己　　　　　　　　　つ

与. (a)Assumef毎y,Z) =yCOSZ十x3y.compute∇f= ⊂OS七十X

(b) Let C be the piece-Wise smooth curve defined by: The line segment from虫哩〉 to (1′0′0)′ fo。owed bythe

Circular arcfrom (1,0,0〉 to (-1,0,0), then followed by another line segmentfrom (-1,0,0〉 to (一2, 1, 7T/2〉. Compute:

dデ二
一年,雪)一 (申)○)ニ十〇

Where7(t) isyour parametrization of C

毎車Q隼雄高雄

Bonus:

1. Thefield F = <一yZ, eZ-XZ, yeZ-%y+2 >hasa (scaiar) potentialfunction角ry,Z).Youdonotneedtove「ify

this, Find the gene「aI form ofthis potential function.

肋)こ幸一準星三十C　　′仁　_

2. Statethe equation in Green’sTheorem

3. DescrIbewhatallthesymboIsmean Intheequat-Onabove. C向甲ur両C-趣OtL, PO古IVCt

oぐ…+高点・友時化p-くれで℃-o吊〇・点示しJ C′ 『負担

午抗い∫ 0出直、小生、 ∵中型oへし〇五時コD
直し〇品…両年{†{埴〇千->古色lイし⊥十色
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